
CHEMISTRY

BOOKS - PATHFINDER CHEMISTRY (BENGALI ENGLISH)

SOLUTIONS

Question Bank

1. Calculate the mass percentage of benzene  and carbon

tetrachloride  if 22g of benzene is dissolved in 122g of carbon

tetrachloride.

Watch Video Solution

(C6H6)

(CCl4)

2. Calculate the mole fraction of benzene in solution containing 30% by

mass in carbon tetrachloride.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_by5epb1s8gRP
https://dl.doubtnut.com/l/_hMRGtNeoRJAn


Watch Video Solution

3. Calculate the molarity and normality of a solution containing 5g

 in 250 mL solution.

Watch Video Solution

Na2CO3

4. Calculate the mass of urea  required in making 2.5 kg

of 0.25 molal aqueous solution.

Watch Video Solution

(NH2CONH2)

5. Henry's law constant for  in water is  Pa at 298 K.

Calculate the quantity of  in 500 mL of soda water packed under 2.5

atm  pressure at 298 K.

Watch Video Solution

CO2 1.67 × 108

CO2

CO2

https://dl.doubtnut.com/l/_hMRGtNeoRJAn
https://dl.doubtnut.com/l/_Iz7tExCoYHsm
https://dl.doubtnut.com/l/_6fOowDkacY1l
https://dl.doubtnut.com/l/_oGsppWIaE8Aw
https://dl.doubtnut.com/l/_C8NqHxzA4FRw


6. Vapour pressure of chloroform  and dichloromethane 

 at 298 K are 200 mm Hg and 415 mm Hg respectively.


Calculate the vapour pressure of the solution prepared by mixing 25.5 g

of  and 40 g of  at 298 K and,

Watch Video Solution

(CHCl3)

(CH2Cl2)

CHCl3 CH2Cl2

7. A solution containing 30 g of non-volatile solute exactly in 90 g of

water has a vapour of 2.8 kPa at 298 K. Further, 18g of water is then added

to the solution and the new vapour pressure becomes 2.9 kPa at 298 K.

Calculate,

molar mass of the solute

Watch Video Solution

8. A solution containing 30 g of non-volatile solute exactly in 90 g of

water has a vapour of 2.8 kPa at 298 K. Further, 18g of water is then added

to the solution and the new vapour pressure becomes 2.9 kPa at 298 K.

https://dl.doubtnut.com/l/_C8NqHxzA4FRw
https://dl.doubtnut.com/l/_l4E38M38MDG7
https://dl.doubtnut.com/l/_jixdZQf15k1Y


Calculate,

molar mass of the solute

Watch Video Solution

9. A mixture of chloroform and acetone shows negative deviation from

Raoult's law. Explain it

Watch Video Solution

10. The vapour pressure of pure liquids A and B are 450 and 700mm Hg

respectively, at 350K.Find out the composition of the liquid mixture if

total vapour pressure is 600 mm Hg. Also find the composition of the

vapure phase.

Watch Video Solution

https://dl.doubtnut.com/l/_jixdZQf15k1Y
https://dl.doubtnut.com/l/_KzDbVO9gg53n
https://dl.doubtnut.com/l/_qGXG3Wkqe4wu


11. The vapour pressure of pure benzene at a certain temperature is 0.850

bar. A non-volatile, non-electrolyte solid weighing 0.5 g when added to

39.0 g of benzene (molar mass 78 g ), vapour pressure of the

solution, then, is 0.845 bar. What is the moler mass of the solid

substance ?

Watch Video Solution

mol− 1

12. Vapour pressure of pure water at 298 K is 23.8 mm Hg. 50 g of urea

 is dissolved in 850 g of water. Calculate the vapour

pressure of water for the solution and its relative lowering.

Watch Video Solution

(NH2CONH2)

13. Boiling point of water at 750 mm Hg is .
How much sucrose is

to be added to 500 g of water such that it boils at  ?

Watch Video Solution

99.63∘C

100∘C

https://dl.doubtnut.com/l/_SISdI0aOilsM
https://dl.doubtnut.com/l/_cIhlaMjBqIkf
https://dl.doubtnut.com/l/_vipbmzancxq1


14. Calculate the mass of ascorbic acid (Vitamin C,  to be

dissolved in 75 g of acetic acid to lower its melting by

.

Watch Video Solution

C6H8O6)

1.5∘C. Kf = 3.9Kkgmol− 1

15. 0.6 mL of acetic acid , having density , is

dissolved in 1 litre of water. The depression in freezing point observed for

this strength of acid was . Calculate the van't Hoff factor and

the dissociation constant of acid

Watch Video Solution

(CH3COOH) 1.06gmL− 1

0.0205∘C

16. 2g of benzoic acid  dissolved in 25 g of benzene shows

a depression in freezing point equal to 1.62 K. Molal depression constant

for benzene is . What is the percentage association of acid

if it forms dimer in solution ?

(C6H5COOH)

4.9kkgmol− 1

https://dl.doubtnut.com/l/_vipbmzancxq1
https://dl.doubtnut.com/l/_jyvqpBDHfJkE
https://dl.doubtnut.com/l/_FKIE9nNREQAU
https://dl.doubtnut.com/l/_aV0Si8ksEntQ


Watch Video Solution

17. Calculating the osmotic pressure in pascals exerted by a solution

prepared by dissolving 1.0 g of a polymer of molar mass 185,000 in 450

mL of water at .

Watch Video Solution

37∘C

18. The vapour pressure of a given liquid will decrease if :

A. surface area of liquid is decreased

B. the volume of liquid in the container is decreased

C. the volume of the vapour phase is increased

D. the temperature is decreased

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_aV0Si8ksEntQ
https://dl.doubtnut.com/l/_vduRBqOyUz4c
https://dl.doubtnut.com/l/_Zde8O5s5QRxK


19. Raoult's law is obeyed by each constituent of a binary liquid solution

when :

A. the force of attraction between like molecules are greater than

those between unlike molecules

B. the force of attraction between like molecules are smaller than

those between unlike molecules

C. the force of attraction between like molecules are identical with

those between unlike molecules

D. the volume occupied by unlike molecules are different

Answer:

Watch Video Solution

20. For a dilute solution, Raoult's law states that :

https://dl.doubtnut.com/l/_aUOcSLLNlJsa
https://dl.doubtnut.com/l/_E6tm06c8TVjN


A. the lowering of vapour pressure is equal to the mole fraction of

solute

B. the relative lowering of vapour pressure is equal to the mole

fraction of solute.

C. the relative lowering of vapour pressure is proportional to the

amount of solute in solution

D. the vapour pressure of the solution is equal to the mole fraction of

solvent

Answer:

Watch Video Solution

21. 6.0 g of urea (molecular weight=60) was dissolved in 9.9 moles of

water. If the vapour pressure of pure water is , the vapour pressure of

solution is :

P ∘

https://dl.doubtnut.com/l/_E6tm06c8TVjN
https://dl.doubtnut.com/l/_5cExNGJXFKPY


A. 

B. 

C. 

D. 0.99

Answer:

Watch Video Solution

0.10P ∘

1.10P ∘

0.90P ∘

P ∘

22. The vapour pressure of an aqueous solution of sucrose at 373 K is

found to be 750 mm Hg. The molality of the solution at the same

temperature will be :

A. 0.26

B. 0.73

C. 0.74

D. 0.039

https://dl.doubtnut.com/l/_5cExNGJXFKPY
https://dl.doubtnut.com/l/_fJ1etShrVJwR


Answer:

Watch Video Solution

23. If two liquid A and B form minimum boiling azeotrope at same specific

composition then

A. A-B interactions are stronger than those between A-A or B-B

B. Vapour pressure of solution increases because more number of

molecules of liquid A and B can escape from the solution.

C. Vapour pressure of solution decreases because less number of

molecules of only one of the liquids escape from the solution

D. A-B interaction are weaker than those between A-A or B-B

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_fJ1etShrVJwR
https://dl.doubtnut.com/l/_n7JQczyJ8w64
https://dl.doubtnut.com/l/_vTLle2UYecYE


24. On adding acetone to methanol some of the hydrogen bonds

between methanol molecules break. Hence

A. at specific composition, methanol-acetone mixture will form

minimum boiling azeotrope and will show positive deviation from

Raoult's law

B. at specific composition, methanol-acetone mixture will form

maximum boiling azeotrope and will show positive deviation from

Raoult's law

C. at specific composition, methanol-acetone mixture will form

minimum boiling azeotrope and will show negative deviation from

Raoult's law

D. at specific composition, methanol-acetone mixture will form

maximum boiling azeotrope and will show negative deviation from

Raoult's law

Answer:

https://dl.doubtnut.com/l/_vTLle2UYecYE


Watch Video Solution

25. Which of the following solutions can be separated into its pure

components by fractional distillation ?

A. Benzene-toluene

B. Water-

C. Water-HCl

D. Water-

Answer:

Watch Video Solution

HNO3

C2H5OH

26. A solution is made by mixing the two components. It is said to be

ideal if

A.  Raoult's law is obeyedΔV = 0, ΔH = + V e,

https://dl.doubtnut.com/l/_vTLle2UYecYE
https://dl.doubtnut.com/l/_Jx4VOjFpdtkF
https://dl.doubtnut.com/l/_1BTW9G7qpiKn


B. , Raoult's law is obeyed

C. Raoult's law is obeyed

D.  Raoult's law is obeyed

Answer:

Watch Video Solution

ΔV = + V e, ΔH = − V e

ΔV = 0, ΔH = 0,

ΔV = 0, ΔH = − V e,

27. Select correct statements):

A. Heat of evaporation for a pure solved and for a solution are similar

because similar intermolecular forces between solvent molecules

must be overcome in both cases.

B. Entropy change between solution and vapour is smaller than the

entropy change between pure solvent and vapour.

C. Boiling point of the solution is large than that of the pure solvent.

D. All are correct statements

https://dl.doubtnut.com/l/_1BTW9G7qpiKn
https://dl.doubtnut.com/l/_54wThfWSjVqe


Answer:

Watch Video Solution

28. One molal solution of a carboxylic acid in benzene shows the

elevation of boiling point of 1.518 K. The degree of association for

dimerization of the acid in benzene is  for benzene 

 :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(Kb

= 2.53Kkgmol− 1)

60 %

70 %

75 %

80 %

https://dl.doubtnut.com/l/_54wThfWSjVqe
https://dl.doubtnut.com/l/_wKBbGsDPcWcZ


29. The boiling point elevation constant for toluene is 3.32 K kg .

The normal boiling point of toluene is . The enthalpy of

evaporation of toluene would be nearly :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

mol− 1

110.7∘C

17.0kJmol− 1

34.0kJmol− 1

51.0kJmol− 1

68.0kJmol− 1

30. Two solutions of glucose have osmotic pressure 1.5 and 2.5 atm.

respectively. 1 L of first solution is mixed with 2 L of second solution. The

osmotic pressure of the resultant solution will be :

A. 1.62 atm

https://dl.doubtnut.com/l/_ukAHZbVmAJRk
https://dl.doubtnut.com/l/_Mb3pZn40qUbK


B. 6.12 atm

C. 1.26 atm

D. 2.16 atm

Answer:

Watch Video Solution

31. Calculating the depression in the freezing point of water when 10g of

 is added to 250g of water. Ka= , kf

=1.86 K kgmol

A. 0.56

B. 0-.84

C. 0.65

D. 0.27

Answer:

CH3CH2CHClCOOH 1.4 × 10− 3

( − 1)

https://dl.doubtnut.com/l/_Mb3pZn40qUbK
https://dl.doubtnut.com/l/_n1ebjPIDTJk9


Watch Video Solution

32. Following are equimolal aqueous solutions

Urea 

KCl 




 Arrange them in order of increasing osmotic pressure

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

MgCl2

Na3PO4

A < B < C < D

D < A < B < C

B < A < C < D

C < A < B < D

https://dl.doubtnut.com/l/_n1ebjPIDTJk9
https://dl.doubtnut.com/l/_Jhmx4B7AbrnD


33. 18 g glucose  is added to 178.2 g water. The vapor pressure

of water (in torr) for this aqueous solution is.

A. 759

B. 7.6

C. 76

D. 752.4

Answer: D

Watch Video Solution

(C6H12O6)

34. The van't Hoff factor (i) for a dilute aqueous solution of the strong

electrolyte barium hydroxide is

A. 3

B. 0

C. 1

https://dl.doubtnut.com/l/_ftHAIkqti7ag
https://dl.doubtnut.com/l/_DVN22ddsdovT


D. 2

Answer: A

Watch Video Solution

35. Which one of the following is incorrect for ideal solution ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔGmix = 0

ΔHmix = 0

ΔUmix = 0

ΔPobs − Pcalca––tedbyRaot–' slaw = 0

https://dl.doubtnut.com/l/_DVN22ddsdovT
https://dl.doubtnut.com/l/_CKFcyzkrqbty


36. Which of the following statements about the composition of the

vapour over an ideal 1:1 molar mixture of benzene and toluene is correct

? Assume that that the temperature is constant at . (Given, Vapour

pressure Data at , benzene = 12.8 KPa, toluene = 3.85 KPa)

A. The vapour will contain equal amounts of benzene and toluene.

B. Not enough information is given to make a prediction.

C. The vapour will contain a higher percentage of benzene.

D. The vapour will contain a higher percentage of toluene.

Answer: C

Watch Video Solution

25∘C

25∘C

37. At  the vapour pressure of a solution of 6.5 g of a solute in 100

g water is 732 mm. If  = 0. 52, the boiling point of this solution will be.

A. 

100∘C

Kb

102∘C

https://dl.doubtnut.com/l/_yxS9b0JEPn5y
https://dl.doubtnut.com/l/_d8YJ0pA3uIbX


B. 

C. 

D. 

Answer: C

Watch Video Solution

103∘C

101∘C

100∘C

38. Consider the following liquid - vapour equilibrium Liquid  Vapour 


Which of the following relations is correct ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

⇔

=
d/nP

dT 2

−ΔH

T 2

= T 2
d/nP

dT

ΔH

R

= T 2
d/nG

dT 2

ΔH

R

=
d/nP

dT

−ΔH

RT

https://dl.doubtnut.com/l/_d8YJ0pA3uIbX
https://dl.doubtnut.com/l/_X2LAdBmZXAKY


39. If  and P are the vapour pressure of the pure solvent and solution

and  and  are the moles of solute and solvent respectively in the

solution then the correct relation between P and  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P 0

n1 n2

P 0

P 0 = P[ ]
n1

n1 + n2

P 0 = P[ ]
n2

n1 + n2

P = P 0[ ]
n2

n1 + n2

P = P 0[ ]
n1

n1 + n2

40. The vapour pressure of acetone at  is 185 torr. When 1.2 g of a

non-volatile solute was dissolved in 100 g of acetone at  its vapour

pressure was 183 torr. The mass  of the substance is.

20∘C

20∘C

(gmol− 1)

https://dl.doubtnut.com/l/_X2LAdBmZXAKY
https://dl.doubtnut.com/l/_HlL3U01k2tju
https://dl.doubtnut.com/l/_Jawx784pLlH7


A. 64

B. 128

C. 488

D. 32

Answer: A

Watch Video Solution

41. Of the following 0. 10 m aqueous solutions, which one will exhibit the

largest freezing point depression ?

A. KCI

B. 

C. 

D. 

Answer: C

C6H12O6

AI2(SO4)3

K2SO4

https://dl.doubtnut.com/l/_Jawx784pLlH7
https://dl.doubtnut.com/l/_nuSAtiKMrmm2


Watch Video Solution

42. A solution of 1.25 g of 'P' in 50g of water lowers freezing point by

. Molar mass of 'P' is 94.  is 1.86 K kg `mol^(-1). The degree

of association of 'P' in water is [Assume dimerisation of P]

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.3∘C Kf (water )

80 %

60 %

65 %

75 %

43.  of oxalic acid completely neutralised 0. 064g of sodium

hydroxide. Molarity of the oxalic acid solution is

25cm3

https://dl.doubtnut.com/l/_nuSAtiKMrmm2
https://dl.doubtnut.com/l/_nfEqYwqbEqG1
https://dl.doubtnut.com/l/_d5BeVuH0CrMe


A. 0.064

B. 0.045

C. 0.015

D. 0.032

Answer: D

Watch Video Solution

44. 5.5 mg of nitrogen gas dissolves in 180 g of water at 273K and 1 atm

pressure due to nitrogen gas. The mole fraction of nitrogen in 180g of

water at 5 atm nitrogen pressure is approximately.

A. 

B. 

C. 

D. 

1 × 10− 6

1 × 10− 5

1 × 10− 3

1 × 10− 4

https://dl.doubtnut.com/l/_d5BeVuH0CrMe
https://dl.doubtnut.com/l/_BSJLmRcfo0u8


Answer: D

Watch Video Solution

45. What will be the value of molality for an aqueous solution of 

w/w NaOH? (Na = 23, O = 16, H = 1)

A. 5

B. 2.778

C. 10

D. 2.5

Answer: B

Watch Video Solution

10 %

46. If 10ml of 0. 1M aqueous solution of NaCI is divided into 1000 drops of

equal volume, what will be the concentration of one drop ?

https://dl.doubtnut.com/l/_BSJLmRcfo0u8
https://dl.doubtnut.com/l/_8sN73Iqnnm3R
https://dl.doubtnut.com/l/_T7r4tcXjYgey


A. 0.10M

B. 0.01M

C. 0.001M

D. 0.0001M

Answer: A

Watch Video Solution

47. What is the molality of a solution containing 200 mg of urea (molar

mass 60g  dissolved in 40g of water?

A. 0.0825

B. 0.825

C. 0.498

D. 0.0013

Answer: A

mol− 1)

https://dl.doubtnut.com/l/_T7r4tcXjYgey
https://dl.doubtnut.com/l/_0AfVdAYxUtZ3


Watch Video Solution

48. The molarity of a solution obtained by mixing 750 mL of 0.5(M) HCI

with 250 mL of 2(M) HCI will be

A. 0.875 M

B. 1

C. 1.75 M

D. 0. 0975 M

Answer: A

Watch Video Solution

49. Identify the mixture that shows positive deviation from Raoult's law.

A. 

B. 

CHCI3 + (CH3)2CO

(CH3)2CO + C6H5NH

https://dl.doubtnut.com/l/_0AfVdAYxUtZ3
https://dl.doubtnut.com/l/_peTWUb2J1RJB
https://dl.doubtnut.com/l/_LF5hRdc9GXgq


C. 

D. 

Answer: D

Watch Video Solution

CHCI3 + C6H6

(CH3)2CO + CS2

50. The temperature at which the vapour pressure of a liquid becomes

equal to external (atmospheric) pressure is its

A. melting point

B. sublimation point

C. inversion point

D. BOILING POINT

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_LF5hRdc9GXgq
https://dl.doubtnut.com/l/_Y9yTtMhwgoou
https://dl.doubtnut.com/l/_iAV8KjAjW3xx


51. An aqueous solution freezes at -  then elevation in boiling

point is 

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

0. 186∘C

(Kb = 0.512, Kf = 1.86)

0.0512∘C

100.0512∘C

−0.0512∘ c

52. Which one of the following solutions exhibits the maximum elevation

in boiling point ?

A. 0.1 m NaCl

B. 

C. 

0.1mFeCl3

0.1mCaCl2

https://dl.doubtnut.com/l/_iAV8KjAjW3xx
https://dl.doubtnut.com/l/_oNMsx0HLYdSl


D. 

Answer: B

Watch Video Solution

0.1mBaCl2

53. Which colligative property is most suitable for the determination of

molecular masses of polymer?

A. elevation in boiling point

B. osmotic pressure

C. optical activity

D. relative lowering of vapour pressure

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_oNMsx0HLYdSl
https://dl.doubtnut.com/l/_gydmydIYOYCA


54. Which one of the statements given below concerning properties of

solution, describes a colligative effect ?

A. Boiling point of pure water decreases by the addition of ethanol.

B. Vapour pressure of pure water decreases by the addition of nitric

acid

C. Vapour pressure of pure benzene decreases by the addition of

naphthalene.

D. Vapour pressure of pure benzene increases by the addition of

toluene.

Answer: C

Watch Video Solution

55.  molecules of urea are present in 100 mL of its solution.

The concentration of solution is

6.02 × 1020

https://dl.doubtnut.com/l/_fwCNQcplXAea
https://dl.doubtnut.com/l/_fTT6eN54YI2a


A. 0.02 M

B. 0.01 M

C. 0.001 M

D. 0.1 M

Answer: B

Watch Video Solution

56. How many gram of concentrated nitric acid solution should be used

be prepare 250 mL of 2.0 M  ?

A. 45.0 g conc. 

B. 90.0 g conc. 

C. 70.0 g conc. 

D. 50.0 g conc. 

Answer: A

NHO3

HNO3

HNO3

HNO3

HNO3

https://dl.doubtnut.com/l/_fTT6eN54YI2a
https://dl.doubtnut.com/l/_tNKLuMPpa7dd


Watch Video Solution

57. Distribution law was given by

A. Ostwald

B. Nernst

C. Henry

D. van't Hoff

Answer: B

Watch Video Solution

58. Which of the following is not a colligative property ?

A. Depression in freezing point

B. Osmotic pressure

https://dl.doubtnut.com/l/_tNKLuMPpa7dd
https://dl.doubtnut.com/l/_jCanY6IRrV02
https://dl.doubtnut.com/l/_xSZrw6ttAGhS


C. Elevation of boiling point

D. Increase in freezing point

Answer: D

Watch Video Solution

59. The osmotic pressure of  solution of cane sugar at  is

A. 2.42 atm

B. 4.33 atm

C. 8.35 atm

D. 16.30atm

Answer: C

Watch Video Solution

12 % 17∘C

https://dl.doubtnut.com/l/_xSZrw6ttAGhS
https://dl.doubtnut.com/l/_hbCJefCw36vd


60. The normality of orthophosphoric acid having purity of  by

weight and specific gravity 1. 54 is

A. 11 N

B. 22 N

C. 33 N

D. 44 N

Answer: C

Watch Video Solution

70 %

61. The molarity of  solution, which has a density 1.84 g/cc at 

 and contains  by weight is

A. 1.84 M

B. 18.4 M

C. 20.6 M

H2SO4

35∘C 98 %

https://dl.doubtnut.com/l/_6X3EjyZiZzGD
https://dl.doubtnut.com/l/_nKgx5qfHFbaZ


D. 24.5 M

Answer: B

Watch Video Solution

62. For a dilute solution containing 2.5 g of a non- volatile non-electrolyte

solute in 100 g of water, the elevation in boiling point at 1 atm pressure

is  Assuming concentration of solute is much lower than the

concentration of solvent, the vapour pressure (mm of Hg) of the solution

is .

A. 726

B. 740

C. 736

D. 718

Answer: A

Watch Video Solution

2∘C

(takekb = 0.76Kkgmol− 1)

https://dl.doubtnut.com/l/_nKgx5qfHFbaZ
https://dl.doubtnut.com/l/_O62qOOADflcL


Watch Video Solution

63.  for water is 1.86 k kg  If your automobile radiator holds 1.0

kg of water, how many grams of ethylene glycol  must you add

to get the freezing point of the solution lowered to  ?

A. 72 g

B. 93 g

C. 39 g

D. 27 g

Answer: B

Watch Video Solution

kf mol− 1

(C2H6O2)

−2. 8∘C

64. The density of a 3M sodium thiosulphate  solution is 1.25

g/mL. Calculate the percent by weight of sodium thiosulphate.

A. 

(Na2S2O3)

12.65 %

https://dl.doubtnut.com/l/_O62qOOADflcL
https://dl.doubtnut.com/l/_3bYdYUjBc2v5
https://dl.doubtnut.com/l/_OditCu4M2ROB


B. 

C. 

D. 

Answer: B

Watch Video Solution

37.92 %

0.87 %

63.21 %

65. Two solutions of HCI, A and B have concentrations of 0.5 N and 0.1 M

respectively. The volume of solutions A and B required to make 2 L of 0.2

N HCI are

A. 0.5 L of A + 1.5 L of B

B. 1.5 L of A + 0.5 L of B

C. 1.0 L of A + 1.0 L of B

D. 0.75 L of A + 1.25 L of B

Answer: A

https://dl.doubtnut.com/l/_OditCu4M2ROB
https://dl.doubtnut.com/l/_H6tWKze3IvfD


Watch Video Solution

66. The highest osmotic pressure corresponds to the following solution

A.  urea

B.  glucose

C.  HCI

D. 

Answer: D

Watch Video Solution

M

10

M

10

M

10

BaCl2
M

10

67. The correct order of increasing boiling points of the following

aqueous solutions 

(I) 0.0001 M NaCl (II) 0.000 1 M Urea (III) 0.001 M  (IV) 0.01 M NaCl

A. 

MgCl2

I < II < III < IV

https://dl.doubtnut.com/l/_H6tWKze3IvfD
https://dl.doubtnut.com/l/_WRwnYLuuKQCX
https://dl.doubtnut.com/l/_2hnNyIluJCem


B. 

C. 

D. 

Answer: C

Watch Video Solution

IV < III < II < I

II < I < III < IV

III < II < IV < I

68. 58.4 g of NaCI and 180 g of glucose were separately dissolved in 1000

mL of water. Identify the correct statement regarding the elevation of

boiling point (b.p.) of the resulting solutions.

A. NaCI solution will show higher elevation of boiling point

B. Glucose solution will show higher elevation of boiling point

C. Both the solutions will show equal elevation of boiling point

D. The boiling point elevation be shown by neither of the solutions

Answer: A

https://dl.doubtnut.com/l/_2hnNyIluJCem
https://dl.doubtnut.com/l/_tAxDKM2YewNR


Watch Video Solution

69. Mixture of chloroform and acetone shows a negative deviation from

Raoult's law. Explain.

A. Acetone-benzene

B. Acetone-ethanol

C. Benzene-methanol

D. Acetone-chloroform

Answer: D

Watch Video Solution

70. The relative lowering of vapour pressure of a dilute solution is equal

to mole fraction of solute present in the solution. Which of the following

low is state this ?

https://dl.doubtnut.com/l/_tAxDKM2YewNR
https://dl.doubtnut.com/l/_oDeXXKfSULva
https://dl.doubtnut.com/l/_AIMOvVWjSXNv


A. Henry low

B. Avogadro's law

C. Raoult's law

D. Law of definite proportion

Answer: C

Watch Video Solution

71. The mass of a non-volatile solute of molar mass 40 g  that

should be dissolved in 114 g of octane to lower its vapour pressure by

, is

A. 11.4 g

B. 9.8 g

C. 12.8 g

D. 10 g

mol− 1

20 %

https://dl.doubtnut.com/l/_AIMOvVWjSXNv
https://dl.doubtnut.com/l/_FqBb7uvk1lX9


Answer: D

Watch Video Solution

72. The relative lowering of vapour pressure of an aqueous solution

containing a non-volatile solute is 0.0125. The molality of the solution is

A. 0.7

B. 0.3

C. 0.125

D. 0.07

Answer: A

Watch Video Solution

73. Which of the following will represent the normality of 

acetic acid

10 % ( )
w

V

https://dl.doubtnut.com/l/_FqBb7uvk1lX9
https://dl.doubtnut.com/l/_j5odB1uyxkSo
https://dl.doubtnut.com/l/_P2JYT5Oc5qqY


A. 1.66 N

B. 16.6 N

C. 3.32 N

D. 33.2 N

Answer: A

Watch Video Solution

74. Milk is an emulsion. Identify the dispersed phase and the emulsifier in

milk.

Watch Video Solution

75. In which case van't Hoff factor are equal ?

A. 0.5

B. 1

https://dl.doubtnut.com/l/_P2JYT5Oc5qqY
https://dl.doubtnut.com/l/_uds7DKPoJ82H
https://dl.doubtnut.com/l/_dYVbr9vpXb9h


C. 2

D. 6

Answer: C

Watch Video Solution

76.  and  are the vapour pressure of pure liquid components, A and

B, respectively of an ideal binary solution. If  represents the mole

fraction of component A, the total pressure of the solution will be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PA PB

XA

PA + XA(PB − PA)

PA + XA(PA − PB)

PB + XA(PB − PA)

PB + XA(PA − PB)

https://dl.doubtnut.com/l/_dYVbr9vpXb9h
https://dl.doubtnut.com/l/_1iOS8bJzeAoG


77. Vapour pressure of chloroform  and dichloromethane 

 at 298 K are 200 mm Hg and 415 mm Hg respectively.


Calculate the vapour pressure of the solution prepared by mixing 25.5 g

of  and 40 g of  at 298 K and,

A. 17.9 mmHg

B. 615.0 mmHg

C. 347.9 mmHg

D. 90.63 mmHg

Answer: D

Watch Video Solution

(CHCl3)

(CH2Cl2)

CHCl3 CH2Cl2

78. A solution has higher osmotic pressure than its standard solution.

Which of the following term will be used for this solution ?

https://dl.doubtnut.com/l/_1iOS8bJzeAoG
https://dl.doubtnut.com/l/_SC9BX1ZHYFlN
https://dl.doubtnut.com/l/_IPdF4qLigFB6


A. Isotonic

B. Hypertonic

C. Dilute

D. Hypotonic

Answer: B

Watch Video Solution

79. The vapour pressure lowering caused by the addition of 100 g of

sucrose (molecular mass = 342) to 1000 g of water, if the vapour pressure

of pure water at  is 23.8 mm Hg, is

Watch Video Solution

25∘C

80. Molarity of a given orthophosphoric acid solution is 3 M. Its normality

is

https://dl.doubtnut.com/l/_IPdF4qLigFB6
https://dl.doubtnut.com/l/_BeOeIHGOeSff
https://dl.doubtnut.com/l/_plwVoEtYihVT


A. 9 N

B. 0.3 N

C. 3 N

D. 1 N

Answer: A

Watch Video Solution

81. 138 g of ethyl alcohol is mixed with 72 g of water. The ratio of mole

fraction of alcohol to water is

A. 3 : 4

B. 1 : 2

C. 1 : 4

D. 1 : 1

Answer: A

https://dl.doubtnut.com/l/_plwVoEtYihVT
https://dl.doubtnut.com/l/_Wnk2nYHOu3CM


Watch Video Solution

82. In which case Raoult's low is not applicable ?

A. 1 M NaCI

B. 1 M urea

C. 1M glucose

D. 1 M sucrose

Answer: A

Watch Video Solution

83. The freezing point of one molal NaCl solution assuming NaCI to be

 dissociated in water is (molal depression constant is 1.86)

A. 

B. 

100 %

−2.72∘C

−3.72∘C

https://dl.doubtnut.com/l/_Wnk2nYHOu3CM
https://dl.doubtnut.com/l/_EwcfTyDstslM
https://dl.doubtnut.com/l/_MxQ1KovdxYUZ


C. 

D. 

Answer: B

Watch Video Solution

2.72∘C

3.72∘C

84. The vapour pressure of water depends upon

A. Surface area of container

B. Volume of container

C. Temperature

D. All

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_MxQ1KovdxYUZ
https://dl.doubtnut.com/l/_xFzzDjWbdAIS


85. A vessel has nitrogen gas and water vapour in equilibrium with liquid

water at a total pressure of 1 atm. The partial pressure of water vapours

is 0.3 atm. The volume of this vessel is reduced to one third of the

original volume, at the same temperature, then total pressure of the

system is: (Neglect volume occupied by liquid water)

A. 3.0 atm

B. 1 atm

C. 3.33 atm

D. 2.4 atm

Answer:

Watch Video Solution

86. For a dilute solution, Raoult's law states that :

https://dl.doubtnut.com/l/_VycEAyPHhMZS
https://dl.doubtnut.com/l/_BMaEBwgGxJLj


A. The lowering of vapour-pressure is equal to the mole-fraction of

solute.

B. The relative lowering of vapour-pressure is equal to the mole-

fraction of solute.

C. The relative lowering of vapour-pressure is proportional to the

amount of the solution is equal to the mole-fraction of solvent.

D. The vapour-pressure of the solution is equal to the mole-fraction of

solvent.

Answer:

Watch Video Solution

87. The mathematical expression of Raoult's law is: 

Where n is no. of moles of solute & N is no. of moles of solvent

A. = n/N
P ∘ − P

P ∘

https://dl.doubtnut.com/l/_BMaEBwgGxJLj
https://dl.doubtnut.com/l/_Zw6RxiDyqPFW


B. 

C. 

D. 

Answer:

Watch Video Solution

= N /n
P ∘ − P

P ∘

= n/N
P ∘ − P

P

= n × N
P ∘ − P

P ∘

88. Total vapour pressure of mixture of 1 mol of volatile component A

 and 3 mol of volatile component 

 is 75 mm. For such case

A. there is positive deviation from Raoult's law

B. boiling point has been lowered

C. force of attraction between A and B is smaller than that between A

and A or between B and B

D. all the above statement are correct

(P ∘
A

= 100mmHg)

B(P ∘
B = 60mmHg)

https://dl.doubtnut.com/l/_Zw6RxiDyqPFW
https://dl.doubtnut.com/l/_Ry3gLhQHmVKi


Answer:

Watch Video Solution

89. Two liquids A and B have vapour pressure in the ratio =2:3 at

a certain temperature. Assume A and B form an ideal solution and the

ratio of mole fractions of A to B in the vapour phase in 1:3,then the mole

fraction of A in the solution at the same temperature is :

A. 1/3

B. 2/3

C. 1/4

D. 3/4

Answer:

Watch Video Solution

P ∘
A

:P ∘
B

https://dl.doubtnut.com/l/_Ry3gLhQHmVKi
https://dl.doubtnut.com/l/_V9EyTVNBEypH


90. Which of the following azeotropic solutions has the b.p. less than b.p.

of the constituents A and B ?

A.  and 

B.  and 

C.  and 

D.  and 

Answer:

Watch Video Solution

CHCl3 CH3COCH3

CS2 CH3COCH3

CH3CH2OH CH3COCH3

CH3CHO CS2

91. The mass of glucose that should be dissolved in 100 g of water in

order to produce same lowering of vapour pressure as is produced by

dissolving 1 g of urea in 50 g of water is

A. 1g

B. 2g

https://dl.doubtnut.com/l/_kBNqMecIVegY
https://dl.doubtnut.com/l/_53MyhHQ39hsJ


C. 6g

D. 12g

Answer:

Watch Video Solution

92. The vapour pressure of water at room temperature is lowered by 

by dissolving a solute in it, then the approximate molality of solution is

A. 2

B. 1

C. 4

D. 3

Answer:

Watch Video Solution

5 %

https://dl.doubtnut.com/l/_53MyhHQ39hsJ
https://dl.doubtnut.com/l/_8rliKxxK21or
https://dl.doubtnut.com/l/_bpuDh8ErhUWl


93. The vapour pressure of a dilute aqueous of glucose is 750 mm of

mercury at 373 K. The mole fraction of solute is

A. 44470

B. 1/7.6

C. 1/35

D. 1/76

Answer:

Watch Video Solution

94. Relative decrease in vapour pressure of an aqueous solution

containing 2 moles  Cl in 3 moles  is 0.50. On

reaction with  this solution will form (assuming no change in

degree of ionisation of substance on adding ).

A. 1mol AgCl

[Cu(NH3)3Cl] H2O

AgNO3

AgNO3

https://dl.doubtnut.com/l/_bpuDh8ErhUWl
https://dl.doubtnut.com/l/_cMZYHy1S0yxe


B. 0.25mol AgCl

C. 0.5 mol AgCl

D. 0.40 mol AgCl

Answer:

Watch Video Solution

95. A solution of one mole of benzoic acid in 15 moles of benzene

produces a relative lowering in vapour pressure of 1/31. The mol. wt. of

benzoic acid is

A. 122

B. 244

C. 61

D. 189

Answer:

https://dl.doubtnut.com/l/_cMZYHy1S0yxe
https://dl.doubtnut.com/l/_KsEoia34EsYw


Watch Video Solution

96. When mercuric iodide is added to the aqueous solution of potassium

iodide

A. freezing point is raised

B. freezing point is lowered

C. freezing point is does not change

D. boiling point is does not change

Answer:

Watch Video Solution

97. 50g of antifreeze (ethylene glycol) is added to 200 g water. What

amount of ice will separate out at ?

A. 42 mg

−9.3∘C

https://dl.doubtnut.com/l/_KsEoia34EsYw
https://dl.doubtnut.com/l/_YPzszFxZfE9U
https://dl.doubtnut.com/l/_NdWd90eNdQjd


B. 42 g

C. 38.71 g

D. 38.71 mg

Answer:

Watch Video Solution

98. Which of the following 0.1 M aqueous solution will have the lowest

freezing point ?

A. Potassium sulphate

B. Sodium chloride

C. Urea

D. Glucose

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_NdWd90eNdQjd
https://dl.doubtnut.com/l/_sIEwa5G8wNda


99. The freezing point of equimolal aqueous solutions will be highest for

A. (aniline hydrochloride)

B. 

C. 

D. 

Answer:

Watch Video Solution

C6H5NH3Cl

Ca(NO3)2

La(NO3)3

C6H12O6

100. 15 g of a solute in 100 g water makes a solution freeze at . 30

g of a solute in 100 g of water will give a depression in freezing point

equal to :

A. 

B. 

−1∘C

−2∘C

0.5∘C

https://dl.doubtnut.com/l/_sIEwa5G8wNda
https://dl.doubtnut.com/l/_0zBqHh3lW3fr
https://dl.doubtnut.com/l/_bySseEXs1Ojc


C. 

D. 

Answer:

Watch Video Solution

2∘C

1∘C

101. Which of the following has been arranged in order of decreasing

freezing point ?

A. 

B. 

C. 

0.05MKNO3 > 0.04MBaCl2 > 0.140Msugar > 0.075MCuSO4

0.04MBACL2 > 0.140Msucrose > 0.075MCuSO4 > 0.05MKNO3

0.075MCuSO4 > 0.140Msucrose > 0.04MBaCl2 > 0.05MKNO3

https://dl.doubtnut.com/l/_bySseEXs1Ojc
https://dl.doubtnut.com/l/_QIpw0GIeVLBM


D. 

Answer:

Watch Video Solution

0.075MCuSO4 > 0.05MNaNO3 > 0.140Msucrose > 0.04MBaCl2

102. The molecular weight of benzoic acid in benzene as determined by

depression in freezing point method corresponds to

A. ionization of benzoic acid

B. dimerization of benzoic acid

C. trimerization of benzoic acid

D. solvation of benzoic acid

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_QIpw0GIeVLBM
https://dl.doubtnut.com/l/_26tuOMuwGmSP
https://dl.doubtnut.com/l/_wHDef1k7J5ZI


103. The fraction of phenol dimerised in benzene if 20 g of phenol in 1 kg

benzene exhibits a freezing point depression of 0.69 K. ( benzene) =5.12

kkg/mol),(MW of phenol=94)

A. 0.74

B. 0.37

C. 0.46

D. 0.64

Answer:

Watch Video Solution

Kf

104. When 20 g of naphthoic acid  is dissolved in 50 g of

benzene , a freezing point depression of 2 K is

observed. The van't Hoff factor(i) is

A. 0.5

(C11H8O2)

(Kf = 1.72Kkgmol− 1)

https://dl.doubtnut.com/l/_wHDef1k7J5ZI
https://dl.doubtnut.com/l/_eFKNE3NoF8mE


B. 1

C. 2

D. 3

Answer:

Watch Video Solution

105. Pressure cooker reduces cooking time because

A. the heat is more evenly distributed inside the cooker

B. a large flame is used

C. boiling point of water is elevated

D. whole matter is converted into steam

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_eFKNE3NoF8mE
https://dl.doubtnut.com/l/_4fOf1ynxjG6f
https://dl.doubtnut.com/l/_jN8nvWX2BDtj


106. y g of non-volatile solute of molar mass M is dissolved in 250 g

benzene. If  is molal elevation constant, the value of  is given by

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Kb ΔT

4M

kby

4kby

M

kb
y

4M

kb
y

M

107. A complex of iron and cyanide ions is  ionised at 1m (molal). If

its elevation in b.p.is . Then the complex is 

:

A. 

B. 

100 %

2.08∘C

(Kb = 0.52Kmol− 1kg)

K3[Fe(CN)6]

Fe(CN)2

https://dl.doubtnut.com/l/_jN8nvWX2BDtj
https://dl.doubtnut.com/l/_VNHT0UC8DeeG


C. 

D. 

Answer:

Watch Video Solution

K4[Fe(CN)6]

Fe(CN)4

108. The elevation in boiling point of a solution of 13.44 g of  in 1

Kg of water using the following information will be: 

(Molecular weight of  and 

A. 0.16

B. 0.05

C. 0.1

D. 0.2

Answer:

Watch Video Solution

CuCl2

CuCl2 = 134.4 Kb = 0.52Kmolal− 1)

https://dl.doubtnut.com/l/_VNHT0UC8DeeG
https://dl.doubtnut.com/l/_LyZjgGCLv245


109. A solution of glucose  is isotonic with 4 g of urea 

 per liter of solution. The concentration of glucose

is

A. 4 g/l

B. 8 g/l

C. 12 g/l

D. 14 g/l

Answer:

Watch Video Solution

(C6H12O6)

(NH2 − CO − NH2)

110. Osmotic pressure of  solution of glucose is 1.20 atm and that of

 solution of cane sugar is 2.5 atm. The osmotic pressure of the

mixture containing equal volumes of the two solutions will be

30 %

3.42 %

https://dl.doubtnut.com/l/_LyZjgGCLv245
https://dl.doubtnut.com/l/_91GmKCHmfNAV
https://dl.doubtnut.com/l/_izXeeHqlQkEL


A. 2.5 atm

B. 3.7 atm

C. 1.85 atm

D. 1.3 atm

Answer:

Watch Video Solution

111.  is isotonic with 0.01 M glucose. Degree of ionisation

of  is :

A. 

B. 

C. 

D. 

Answer:

0.004MNa2SO4

Na2SO4

75 %

50 %

25 %

85 %

https://dl.doubtnut.com/l/_izXeeHqlQkEL
https://dl.doubtnut.com/l/_FRlfvR7GpjGv


Watch Video Solution

112. We have 100 mL of 0.1 M KCl solution. To make it 0.2 M,

A. evaporate 50 mL water

B. evaporate 50 mL solution

C. add 0.01 mol KCl

D. both (1) and (3)

Answer:

Watch Video Solution

113. A molal solution is one that contains one mole of a solute in :

A. 1000 g of the solvent

B. 1 L of the solvent

https://dl.doubtnut.com/l/_FRlfvR7GpjGv
https://dl.doubtnut.com/l/_IOr94yFIpPrt
https://dl.doubtnut.com/l/_eZKHw7yEtzmk


C. 1 L of the solution

D. 22.4 L of the solution

Answer:

Watch Video Solution

114. At higher altitudes, water boils at temperature  because

A. temperature of higher altitudes is low

B. atmospheric pressure is low

C. the proportion of heavy water increases

D. atmospheric pressure becomes more.

Answer:

Watch Video Solution

> 100∘C

https://dl.doubtnut.com/l/_eZKHw7yEtzmk
https://dl.doubtnut.com/l/_qp2T6EJexnXH


115. The solubility of a specific non-volatile salt is 4 g in 100 g of water at

. If 2.0 g, 4.0 g and 6.0 g of the salt added to 100 g of water at 

, in system X, Y and Z. The vapour pressure would be in the order :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

25∘C 25∘C

X < Y < Z

X > Y > Z

Z > X = Y

X > Y = Z

116. According to Henry's law, the solubility of a gas in a given volume of

liquid increases with increase in

A. Temperature

B. Pressure

https://dl.doubtnut.com/l/_XZmFi0z83pLH
https://dl.doubtnut.com/l/_EqT7e36f0Nif


C. BOTH (1)  (2)

D. None of these

Answer: B

Watch Video Solution

&

117. Calculate the concentration of  in a soft drink that is bottled

with a partial pressure of  of 4 atm over the liquid at . The

Henry's Law constant for  in water is  mol/litre atm at 

.

A. 1.24 mol/lit.

B. 0.24 mol/lit

C. 0.124 mol/lit

D. 12.4 mol/lit

Answer: C

CO2

CO2 25∘C

CO2 3.1 × 10− 2

25∘C

https://dl.doubtnut.com/l/_EqT7e36f0Nif
https://dl.doubtnut.com/l/_tlGnjfQgKnf7


Watch Video Solution

118. Which of the following curves represents the Henry's law ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_tlGnjfQgKnf7
https://dl.doubtnut.com/l/_8Sj1YUgc6sPa
https://dl.doubtnut.com/l/_a1mkksHYtq2c


119. An ideal solution has two components A and B. A is More volatile

than B, i.e.,  and also  . If  and  are mole

fractions of components A in liquid and vapour phases, then:

A. 

B. 

C. 

D. Data insufficient

Answer: C

Watch Video Solution

p0
A > p0

B p0
A > Ptotal xA yA

xA = yA

xA > yA

xA < yA

120. Two liquids A and B form an ideal solution. At 300 k, the vapour

pressure of a solution containing 1 mole of A and 3 moles of B is 550 mm

of Hg. At the same temperature, if one mole of B is added to this

solution, the vapour pressure of the solution increases by 10 mm of Hg.

Determine the vapour pressure of A and B in their pure states.

https://dl.doubtnut.com/l/_a1mkksHYtq2c
https://dl.doubtnut.com/l/_rSnatqxKe0Yv


A. 400, 600

B. 500, 500

C. 600, 400

D. None of these

Answer: A

Watch Video Solution

121. Water and chlorobenzene are immiscible liquids. Their mixture boils

at  under a reduced pressure of  Pa. The vapour pressure

of pure water at  is  Pa. On weight percent basis,

chiorobenzene in the distillate is equal to (mol. wi. of chlorobenzene is

)

A. 50

B. 60

C. 41

90∘C 7.82 × 104

90∘C 7.03 × 104

112.5gmol− 1

https://dl.doubtnut.com/l/_rSnatqxKe0Yv
https://dl.doubtnut.com/l/_pByXYA7ANLf4


D. 80

Answer: C

Watch Video Solution

122. Two liquids having vapour pressures  and  in pure state in the

ratio of 2:1 are mixed in the motar ratio of 1:2. The ratio of their moles in

the vapour state would be:

A. 1:1

B. 1:2

C. 2:1

D. 3:2

Answer: A

Watch Video Solution

p0
1 p0

2

https://dl.doubtnut.com/l/_pByXYA7ANLf4
https://dl.doubtnut.com/l/_CyLy4POzzF2I
https://dl.doubtnut.com/l/_E73SksH9G1Oj


123. For a binary ideal liquid solution, the total pressure of the solution is

given as :

A. total

B. total

C. total

D. total

Answer: B

Watch Video Solution

P = p0
A

+ (p0
A

− p0
B)xB

P = p0
B + (p0

A
− p0

B)xA

P = p0
B + (p0

B − p0
A
)xA

P = p0
B + (p0

B − p0
A
)xB

124. The correct order for the bond dissociation enthalpy of Halogen

molecules:

A. (A) Bromine> Iodine> Fluorine> Chlorine

B. (B) Fluorine> Chlorine > Bromine> Iodine

C. (C) Iodine> Bromine>Chlorine> Fluorine

https://dl.doubtnut.com/l/_E73SksH9G1Oj
https://dl.doubtnut.com/l/_z5DyAYAwczqO


D. (D) Chlorine> Bromine> Fluorine> Iodine

Answer: A

Watch Video Solution

125. When non ideal solution was prepared by mixing 30 mL chloroform

and 50 mL acetone, the volume of mixture will be

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

> 80mL

= 80mL

< 80mL

≥ 80mL

https://dl.doubtnut.com/l/_z5DyAYAwczqO
https://dl.doubtnut.com/l/_dXjTD4BEIqfY


126. Two liquids A and B form an ideal solution. What is the vapour

pressure of solution containing 2 moles of A and 3 moles of B at 300 K? 

[Given : At 300 K, vapour pressure of pure liquid A

 = 100 torr and vapour pressure of pure liquid B 


 = 300 torr]

A. 200 torr

B. 140 torr

C. 180 torr

D. None of these

Answer: D

Watch Video Solution

(p0
A
)

(p0
B)

127. The vapour pressure of pure liquid Ais 70 torr at  It forms an

ideal solution with another liquid B. The mole fraction of B 1s 0.2 and

27∘C

https://dl.doubtnut.com/l/_LGG3upgPoLlI
https://dl.doubtnut.com/l/_PGqTU7aFY1j6


total vapour pressure of the solution is 84 torr at . The vapour

pressure of pure liquid B at  is

A. 140 torr

B. 50 torr

C. 14 torr

D. 70 torr

Answer: A

Watch Video Solution

27∘C

27∘C

128. At , the vapour pressure of pure liquids, benzene and toluene,

are 160 mm Hg and 60 mm Hg respectively. At the same temperature, the

vapour pressure of an equimolar solution of the two liquids, assuming

the ideal solution should be

A. 140 mmHg

B. 110 mm Hg

40∘C

https://dl.doubtnut.com/l/_PGqTU7aFY1j6
https://dl.doubtnut.com/l/_1PerHX7vQ489


C. 220 mm Hg

D. 100 mm Hg

Answer: B

Watch Video Solution

129. At  the vapour pressures in torr, of methyl alcohol ethyl alcohol

solutions is represented by the equation.  where 

is mole-fraction of methyl alcohol, then the value of  is :

A. 254 torr

B. 135 torr

C. 119 torr

D. 140 torr

Answer: A

Watch Video Solution

40∘C

P = 119XA + 135 XA

lim
XA → 1

P

XA

https://dl.doubtnut.com/l/_1PerHX7vQ489
https://dl.doubtnut.com/l/_lwod1rFdmhs9


130. Two liquids A and B form an ideal solution. The ratio of vapour

pressures of pure liquids A and B are 3: 5. If the mole fraction of A in the

liquid solution at equilibrium with vapours is 0.4, then the mole-fraction

of B in the liquid is

A. 0.3

B. 0.6

C. 4

D. 4.3

Answer: B

Watch Video Solution

131. Which will form maximum boiling point azeotrope ?

A.  solutionC6H6 + C6H5CH3

https://dl.doubtnut.com/l/_lwod1rFdmhs9
https://dl.doubtnut.com/l/_WM3aKWuopDdj
https://dl.doubtnut.com/l/_0hX1faKvA8EF


B.  solution

C.  solution

D. Both (2) and (3)

Answer: C

Watch Video Solution

C2H5OH + H2O

HNO3 + H2O

132. The relative lowering of vapour pressure is equal to the ratio

between the number of

A. solute molecules to the solvent molecules

B. solute molecules to the total molecules in solution

C. solvent molecules to the total molecules in the solution

D. solvent molecules to the total number of ions in solution

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0hX1faKvA8EF
https://dl.doubtnut.com/l/_y1vtwBA5iaSX


133. The vapour pressure of a solvent is found to be 400 mm Hg at 300 K.

When a certain amount of a nonvolatile solute is added to 50 mol of the

solvent its vapour pressure decreases to 360 mm Hg. The amount of

solute added is

A. 2.41 mol

B. 3.42 mol

C. 4.54 mol

D. 5.55 mol

Answer: D

Watch Video Solution

134. If relative decrease In vapour pressure is 0.4 for a solution

containing 1 mol NaCl in 3 mol of , then  ionization of NaCl isH2O %

https://dl.doubtnut.com/l/_y1vtwBA5iaSX
https://dl.doubtnut.com/l/_0qP9ZezDLaYM
https://dl.doubtnut.com/l/_k9IUwiT99gDK


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

60 %

80 %

40 %

100 %

135. When a solution containing non-volatile solute freezes, which

equilibrium would exist ?

A. solid solvent  liquid solvent

B. solid solute  liquid solution

C. solid solute  liquid solvent

D. solid solvent  liquid solution

Answer: D

⇔

⇔

⇔

⇔

https://dl.doubtnut.com/l/_k9IUwiT99gDK
https://dl.doubtnut.com/l/_8RYlULVHzetq


Watch Video Solution

136. 2.56 g of sulphur in 100 g of  has depression in freezing point of 

 .  . Hence atomicity of sulphur in the

solution is

A. 2

B. 4

C. 6

D. 8

Answer: D

Watch Video Solution

CS2

0.010∘ Kf = 0.1∘ kg(mol) − 1

137. The temperature of a city was found tobe . A car was used,

whose radiator was filled with 5 L of water. What quantity of anti freezing

−9.30∘C

https://dl.doubtnut.com/l/_8RYlULVHzetq
https://dl.doubtnut.com/l/_NFGdG6VDKbxi
https://dl.doubtnut.com/l/_4Vy6j4g9uI20


agent ethylene glycol were added to water of radiator in order to use the

car for travelling ? (  of water 1.86 K kg )

A. 3200 g

B. 1670 g

C. 1550 g

D. 2100 g

Answer: C

Watch Video Solution

Kf mol− 1

138. The freezing point of equimolal aqueous soluticns will be highest for

A. 

B. 

C. 

D. 

C6H5N
+H3Cl

−

Ca(NO3)2

La(NO3)3

C6H12O6

https://dl.doubtnut.com/l/_4Vy6j4g9uI20
https://dl.doubtnut.com/l/_dnD6wFe2FyQ7


Answer: D

Watch Video Solution

139. KBr is  dissociated in aqueous solution. The freezing point of a

0.5 molal solution is 

A. 271.5 K

B. 273 K

C. 277 K

D. 218 K

Answer: A

Watch Video Solution

80 %

Kf = 1.86Kkgmol− 1

140. A 0.2 molal aqueous solution of weak acid HX is  ionized. The

freezing point of solution is ( )

20 %

Kf = 1.86

https://dl.doubtnut.com/l/_dnD6wFe2FyQ7
https://dl.doubtnut.com/l/_rLyzKIPrmCAr
https://dl.doubtnut.com/l/_KujsUuA9SFpA


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−0.45∘C

−0.9∘C

−0.31∘C

−0.53∘C

141. Which of the following aqueous solutions has minimum freezing

point ?

A. 0.01 m NaCl

B. 

C. 0.005 m 

D. 

Answer: A

0.005mMgl2

C2H5OH

0.005mMgSO4

https://dl.doubtnut.com/l/_KujsUuA9SFpA
https://dl.doubtnut.com/l/_mhMcsojkhgYP


Watch Video Solution

142. A .001 molal solution of a complex  in water has the freezing

point of . Assuming  ionization of the complex salt and

K,for  , write the correct representation for the complex

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[MA8]

−0.0054∘C 100 %

H2O 1.86Km− 1

[MA8]

[MA7]A

[MA6]A2

[MA5]A3

143. Ratio of  of 10 g  and 14 g  per 100 g of solvent in

their respective, solution (  and  both are non-electrolytes) is 1

mol/kg in both cases. Hence, atomic wt. of A and B are respectively

△ Tb

Kb

AB2 A2B

AB2 A2B

https://dl.doubtnut.com/l/_mhMcsojkhgYP
https://dl.doubtnut.com/l/_yklEZm1hmC7k
https://dl.doubtnut.com/l/_w9xlrzkqmphg


A. 100, 40

B. 60,20

C. 20,60

D. None of these

Answer: B

Watch Video Solution

144. The elevation in boiling point, when 13.44 g.of freshly prepared

, are added to 1 kg of water is [some useful data, 

kg K  and M.W of 

A. 0.05

B. 0.1

C. 0.16

D. 0.21

CuCl2 Kb(H2O) = 0.52

mol− 1 CuCl2 = 134.4g]

https://dl.doubtnut.com/l/_w9xlrzkqmphg
https://dl.doubtnut.com/l/_13p4xCdngmPH


Answer: A

Watch Video Solution

145. A water sample contains  and  (by weight).

Assuming  ionisation of each salt boiling point of water will be (

)

A. 

B. 377.16 K

C. 277.25 K

D. 

Answer: B

Watch Video Solution

9.5 % MgCl2 11.7 % NaCl

80 %

Kb = 0.52

110.01∘C

102.5∘C

https://dl.doubtnut.com/l/_13p4xCdngmPH
https://dl.doubtnut.com/l/_GDqiHaoJfuLQ


146. Consider equimolal aqueous solutions of  and NaCl with 

 and , as their respective boiling point elevations. The value

of  will be

A. 1

B. 1.5

C. 3.5

D. 44257

Answer: B

Watch Video Solution

NaHSO4

△ Tb △ ' Tb

Lim
m→ 0

△ Tb

△ ' Tb

147. Blood cells retain their normal shape in solutions which are

A. hypotonic to blood

B. isotonic to blood

C. hypertonic to blood

https://dl.doubtnut.com/l/_NAqsftxMduAP
https://dl.doubtnut.com/l/_Ot3gR7wkbYfD


D. equi normal to blood

Answer: B

Watch Video Solution

148. The osmotic pressures of equimolar solutions of urea,  and 

 will be in the order :

A.  urea

B.  urea

C. urea 

D. 

Answer: A

Watch Video Solution

BaCl2

AICI3

AlCl3 > BaCl2 >

BaCl2 > AlCl3 >

> BaCl2 > AlCl3

BaCl2 > urea > AlCl3

https://dl.doubtnut.com/l/_Ot3gR7wkbYfD
https://dl.doubtnut.com/l/_z1D1K3VfgsOu


149. Which of the following pair of solutions can be expected to be

isotonic at the same temperature ?

A. 0.1 M urea and 0.1 M NaCl

B.  and 

C.  and 

D. 0.1 M glucose and 0.2 M 

Answer: C

Watch Video Solution

0.1MNaCl 0.1MNa2SO4

0.1MCa(NO3)2 0.1MNa2SO4

MgCl2

150. Sulphur-Dioxide is passed through acidified Potassium-Dichromate

solution. Write the reaction with observation.

Watch Video Solution

https://dl.doubtnut.com/l/_Gq2Jz9OTFrR3
https://dl.doubtnut.com/l/_liMkhsVTBoNf


151. In the phenomenon of osmosis through the semipermeable

membrane

A. solvent molecules pass from solution to solvent

B. solvent molecules pass from solvent to solution

C. solute molecules pass from solution to solvent

D. solute molecules pass from solvent to solution

Answer: B

Watch Video Solution

152. Consider following solution 

(i) 1M aqueous glucose solution 

(ii) 1M aqueous sodium chloride solution 

(iii) 1 M aqueous ammonium phosphate solution 

(iv) 1M benzoic acid in benzene 

Select correct statements for the above solution

https://dl.doubtnut.com/l/_7oRyjrpke1hS
https://dl.doubtnut.com/l/_xTSmcbFP1Dsd


A. All are isotonic solution

B. (ii) is hypotonic with (i), (ii) and (iv)

C. (iv) is hypertonic with (i), (ii) and (iii)

D. (ii) is hypotonic with (iii) but hypertonic with (i) and (Iv)

Answer: A

Watch Video Solution

153. Osmotic pressure of blood is 7.40 atm at . Number of mol of

glucose to be used per L for an intravenous injection that is to have the

same osmotic pressure as blood is

A. 0.3

B. 0.2

C. 0.1

D. 0.4

27∘C

https://dl.doubtnut.com/l/_xTSmcbFP1Dsd
https://dl.doubtnut.com/l/_uFu6zQDr2KMG


Answer: A

Watch Video Solution

154. Which has maximum osmotic pressure at temperature T

A. 100 mL of 1 M urea solution

B. 300 mL of 1 M glucose solution

C. mixture of 100 ml. of 1 M urea solution and 300 mL of 1 M glucose

solution

D. all are isotonic

Answer: D

Watch Video Solution

155. The relationship between osmotic pressures (  and ) at a

definite temperature when 1 g glucose, 1 g urea and 1 g sucrose are

π1, π2 π3

https://dl.doubtnut.com/l/_uFu6zQDr2KMG
https://dl.doubtnut.com/l/_OSwP8xqef3Eg
https://dl.doubtnut.com/l/_IPk5wNMYZxm1


dissolved in 1 litre of water is 

(assume i = 1 for all)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

π1 > π2 > π3

π3 > π1 > π2

π2 > π1 > π3

π2 > π3 > π2

156. Which of the following would have the highest osmotic pressure

(Assume that all salts are  dissociated) ?

A. Decimolar aluminium sulphate

B. Decimolar barium sulphate

C. Decimolar sodium sulphate

90 %

https://dl.doubtnut.com/l/_IPk5wNMYZxm1
https://dl.doubtnut.com/l/_vnmTKrmn6OQv


D. A solution obtained by mixing equal volume of (2) and (3) and

filtering

Answer: A

Watch Video Solution

157. 2 millimolar solution of sodium ferrocyanide is  dissociated at 

 Osmotic pressure of the solution is

A. 2.14 atm

B. 1.02 atm

C. 0.167 atm

D. 0.0234 atm

Answer: C

Watch Video Solution

60 %

27∘C

https://dl.doubtnut.com/l/_vnmTKrmn6OQv
https://dl.doubtnut.com/l/_qCZA6h4uNGwC
https://dl.doubtnut.com/l/_Kqb37w0BaFGI


158. A complex is written as . Its 0.05 molar solution shows

2.46 atm osmotic pressure at . Assuming  ionization and

coordination number of metal (III) is six, complex may be

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

M(en)y. xBr

27∘C 100 %

[M(en)2Br2]Br

[M(en)3]Br3

[M(en)2Br2]
+

[M(en)3]
+
Br2

159. lf  is the normal molecular mass and  is the degree of

ionization of , then the abnormal molecular mass of the

complex in the solution will be

A. 

Mnormal α

K3[Fe(CN)6]

Mnormal(1 + 2α) − 1

https://dl.doubtnut.com/l/_Kqb37w0BaFGI
https://dl.doubtnut.com/l/_GZ5LFwjub1Nr


B. 

C. 

D. equal to 

Answer: B

Watch Video Solution

Mnormal(1 + 3α) − 1

Mnormal(1 + α) − 1

Mnormal

160. The van't Hoff factor i for an infinitely dilute solution of  is

A. 44228

B. 44256

C. 3

D. 2

Answer: C

Watch Video Solution

NaHSO4

https://dl.doubtnut.com/l/_GZ5LFwjub1Nr
https://dl.doubtnut.com/l/_4BSJMxXhztvh
https://dl.doubtnut.com/l/_sqnGEOqfEeWe


161. One mole of a solute A is dissolved in a given volume of a solvent.

The association of the solute take place as follows,  


If  is the degree of association of A, the van't Hoff factor i is expressed

as

A. i = 1- 

B. i = 1+ 

C. i = `(1-alpha +alpha/n)/1

D. i = 1

Answer: C

Watch Video Solution

nA ⇔ An

α

α

α

n

162. The values of observed and calculated molecular mass of 

are 65.4 and 164 g  respectively. The degree of dissociation of 

 will be

Ca(NO3)2

mol− 1

Ca(NO3)2

https://dl.doubtnut.com/l/_sqnGEOqfEeWe
https://dl.doubtnut.com/l/_4Gys5CPX33JD


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

75 %

50 %

98 %

80 %

163. Acetic acid dimerises in benzene solution, The Van't Hoff factor for

the dimerisation of acetic acid is 0.8. The  of dimerisation of acetic

acid is

A. 

B. 

C. 

D. 

%

20 %

40 %

60 %

80 %

https://dl.doubtnut.com/l/_4Gys5CPX33JD
https://dl.doubtnut.com/l/_T4DAs77kHzqG


Answer: B

Watch Video Solution

164. The value of observed and calculated molecular weights of silver

nitrate are 92.64 and 170 respectively. The degree of dissociation of silver

nitrate is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

60 %

83.5 %

46.7 %

60.23 %

https://dl.doubtnut.com/l/_T4DAs77kHzqG
https://dl.doubtnut.com/l/_fVpsChf6fN4d


165. When some NaCl was dissolved in water, the freezing point

depression was numerically equal to twice the molal depression

constant. The relative lowéring of vapour pressure of the solution is

A. 0.117

B. 0.036

C. 0.0585

D. none

Answer: B

Watch Video Solution

166.  or  for ethanoic acid in benzene will be (i) of normal

value and molar mass will be (ii) of expected value. 

Here (i) and (II) refer to

A. (i) = half, (II) = half

△ Tb △ Tf

https://dl.doubtnut.com/l/_ZIHGE2Y40fEu
https://dl.doubtnut.com/l/_KKn1dc5aNKOD


B. (i) = twice, (II) = half

C. (i) = half, (II) = twice

D. (i) = twice, (II) = twice

Answer: C

Watch Video Solution

167. The b.p. of 0.2 mol  solution of x in  is greater than

equimolal solution for y in . Which one of the following statements

is true ?

A. y is undergoing dissociation in  while x undergoes no change

B. x is undergoing dissociation in  while y undergoes no change

C. molecular mass of x is greater than molecular mass of y

D. molecular mass of x is less than the molecular mass of y

Answer: B

kg− 1 H2O

H2O

H2O

H2O

https://dl.doubtnut.com/l/_KKn1dc5aNKOD
https://dl.doubtnut.com/l/_Kw0cRPzW48wt


Watch Video Solution

168. Acetic acid exists in benzene solution in the dimeric form. In an

actual experiment the vant Hoff factor was found to be 0.52. Then the

degree of association of acetic acid is

A. 0.48

B. 0.88

C. 0.96

D. 0.52

Answer: C

Watch Video Solution

169. The mole fraction of a solute in a binary solution is 0.1. At 298 K,

molarity of this solution is same as its molality. Density of this solution at

https://dl.doubtnut.com/l/_Kw0cRPzW48wt
https://dl.doubtnut.com/l/_xsdkuAvJpnh2
https://dl.doubtnut.com/l/_XZxAgZ6jh0HM


298 K is 2.0 g . The ratio of molecular weights of the solute and the

solvent  is

Watch Video Solution

cm− 3

(Msolute /Msolvent)

170. Identify the mixture that shows positive deviation from Raoult's law.

A. carbon tetrachloride + methanol

B. carbon disulphide + acetone

C. benzene + toluene

D. phenol + aniline

Answer:

Watch Video Solution

171. If the freezing point of a 0.01 molal aqueous solution of a cobalt (III)

chloride-ammonia complex (which behaves as a strong electrolyte) is -

https://dl.doubtnut.com/l/_XZxAgZ6jh0HM
https://dl.doubtnut.com/l/_73gAdyaQxHzC
https://dl.doubtnut.com/l/_weQEKVgKWC7W


, the number of chloride(s) in the coordination sphere of the

complex is 

Watch Video Solution

0.0558∘C

[Kfofwater = 1.86Kkgmol− 1]

172. A compound  with molar weight of 80 g is dissolved in a solvent

having density of 0.4 g . Assuming no change in volume upon

dissolution, the molality of a 3.2 molar solution is

Watch Video Solution

H2X

ml− 1

173. Benzene and naphthalene form an ideal solution at room

temperature. For this process, the true statement(s) is/are

A.  is positive

B.  is positive

C. 

D. 

△ G

△ Ssystem

△ Ssurround∈ gs = 0

△ H = 0

https://dl.doubtnut.com/l/_weQEKVgKWC7W
https://dl.doubtnut.com/l/_ZM0S1HqSmcAk
https://dl.doubtnut.com/l/_JhX01VjcUFtI


Answer:

Watch Video Solution

174.  (wiW) HCI stock solution has density of . The

molecular weight of HCl is . The volume (mL) of stock

solution required to prepare a 200 mL solution 0.4 M HCI is

A. 5.0 mL

B. 6.0 mL

C. 8.0 mL

D. 15.0 mL

Answer:

Watch Video Solution

29.2 % 1.25gmL− 1

36.5gmol− 1

175. In which case van't Hoff factor are equal ?

https://dl.doubtnut.com/l/_JhX01VjcUFtI
https://dl.doubtnut.com/l/_4e3HuwYc2NXL
https://dl.doubtnut.com/l/_lKAIZgp6WFho


A. KCI,  ionised

B.  ionised

C.  ionised

D.  ionised

Answer:

Watch Video Solution

50 %

K2SO4, 40 %

FeCl3, 30 %

SnCl4, 20 %

176. The total vapour pressure of a binary solution is given by

 


where  and  are the mole fraction of components A and B. This

indicates that the :

A. vapour pressure of solution is less than the pure B component

B. vapour pressure of solution is more than that of pure A component

C. vapour pressure of pure A is 100 mm Hg and that of pure B is 260

mm Hg

P = (100xA + 260xB)mmHg

xA xB

https://dl.doubtnut.com/l/_lKAIZgp6WFho
https://dl.doubtnut.com/l/_L7jP1iTZacDD


D. the vapour pressure of pure A and B are 260 mm Hg and 100 mm

Hg respectively

Answer:

Watch Video Solution

177. Which has the equal elevation of boiling point ?

A. 0.1 M 

B. 0.1 M  (glucose)

C. 0.1 M 

D. 0.1 M AI 

Answer:

Watch Video Solution

Na2SO4

C6H12O6

MgCl2

(NO3)3

https://dl.doubtnut.com/l/_L7jP1iTZacDD
https://dl.doubtnut.com/l/_UmHpYTnvTGAi


178. Which of the following is correct for an ideal solution ?

A. Raoult's law is obeyed for entire concentration range and

temperatures

B. 

C. 

D. 

Answer:

Watch Video Solution

ΔHmix = 0

ΔVmix = 0

ΔSmix = 0

179. Which of the following will form non-ideal solution ?

A.  and water

B.  and water

C.  and 

C2H5OH

HNO3

CHCl3 CH3COCH3

https://dl.doubtnut.com/l/_rHxlq3Su5DPO
https://dl.doubtnut.com/l/_cJGZzQP0Ipjf


D.  and 

Answer:

Watch Video Solution

C6H6 C6H5CH3

180. Which of the following is/are correct for an ideal binary solution of

two volatile liquids (eg. benzene & toluene) ?

A. its vapour is always richer in the more volatile component

(compared to the liquid)

B. The liquid will gradually become richer in the less volatile

component if such a mixture is boiled (distilled)

C. The (ie. the total pressure) above the solution will be the sum of

the vapour pressures of the two pure components.

D. The boiling point of the solution will be less than the boiling of the

two components.

PT

https://dl.doubtnut.com/l/_cJGZzQP0Ipjf
https://dl.doubtnut.com/l/_vqxzmFoIvACR


Answer:

Watch Video Solution

181. Draw and state correct Geometry and hybridization for XeF4

Watch Video Solution

182. In which of the following pairs of solutions will the values of the

colligative properties be the same?

A.  and 

B.  and 

C. and 

D.  and 

Answer:

Watch Video Solution

0.05MK4[Fe(CN)6] 0.10MFeSO4

0.10MK4[Fe(CN)6] 0.10MFeSO4(NH4)2SO4. 6H2O

0.20MNaCl 0.10MBaCl2

0.05MFeSO4(NH4)2SO4. 6H2O 0.05MKCl. MgCl2. 6H2O

https://dl.doubtnut.com/l/_vqxzmFoIvACR
https://dl.doubtnut.com/l/_0qbScbOeZ8SB
https://dl.doubtnut.com/l/_hoH4pTz8ot3a


183. Why will copper and HCl(aq) not evolve Hydrogen gas?

Watch Video Solution

184. Match Column - I with Column - II 

View Text Solution

185. Match Column - I with Column - II 

View Text Solution

186. Match Column - I with Column - II 

 

https://dl.doubtnut.com/l/_hoH4pTz8ot3a
https://dl.doubtnut.com/l/_12pzeMlLhZR0
https://dl.doubtnut.com/l/_2rAeQp6EQ3OK
https://dl.doubtnut.com/l/_MD909rTllHAZ
https://dl.doubtnut.com/l/_Oxp1ZKmIcN5u


View Text Solution

187. Match Column - I with Column - II 

View Text Solution

188. What is the maximum value of van't Hoff factor for  ?

Watch Video Solution

AlCl3

189. Phenol  is found to exist as polymer. If there is 

polymerisation, determine number of phenol molecules polymerised in

aqueous solution if 9.4 g of phenol solution in 100 g water freezes at -

. 


(C6H5OH) 100 %

0.93∘C

KfH2O = 1.860Cmol− 1kg

https://dl.doubtnut.com/l/_Oxp1ZKmIcN5u
https://dl.doubtnut.com/l/_F3fOpGW86bub
https://dl.doubtnut.com/l/_J2fvN2SVW7Ey
https://dl.doubtnut.com/l/_LTLNnl50Et0s


Watch Video Solution

190. The freezing point depression of a  m solution of 

 is  K. Determine x given 

 for . Assume  dissociation. 


 for 

Watch Video Solution

1.00 × 10− 3

Kx[Fe(CN)6] 7.10 × 10− 3

Kf = 1.86Kkgmol− 1 H2O 100 %

Kf = 1.86Kkgmol− 1 H2O

191. The concentration of pollutant in ppm (w/w). that has been

measured at 450 mg per 150 kg of sample is :

Watch Video Solution

192. An aqueous solution of 0.01 M  has Van't Hoff factor 1.01.

If pH=-log , pH of 0.01 M  solution would be

Watch Video Solution

CH3COOH

[H + ] CH3COOH

https://dl.doubtnut.com/l/_LTLNnl50Et0s
https://dl.doubtnut.com/l/_suH0loKAgqpv
https://dl.doubtnut.com/l/_MzpoGJ80wUK2
https://dl.doubtnut.com/l/_pNyJcp8FbFcD


193. Insulin  is dissolved in a suitable solvent and the

osmotic pressure  of the solution of various concentration 

is measured at . The slope of a plot of  against c is found to be 

 (SI units) The molecular weight of the insulin

Watch Video Solution

(C2H10O5)n

π (inkg/m3)

20∘C π

8.134 × 10− 3

194. Relative decrease in vapour pressure of an aqueous NaCl is 0.181.

Number of moles of NaCl present in 180g of  is (consider 

dissociation of NaCl)

Watch Video Solution

H2O 100 %

195. One would expect proton to have very large:

A. (a) charge

B. (b) ionization potential

https://dl.doubtnut.com/l/_pNyJcp8FbFcD
https://dl.doubtnut.com/l/_hWqfO1EwxW8F
https://dl.doubtnut.com/l/_EngYhD7P6KRZ
https://dl.doubtnut.com/l/_L8eYyzQdyT12


C. (c) hydration energy

D. (d) radius

Answer:

Watch Video Solution

196. Which of the following statements is true for all the alkali metals?

A. (a) Their nitrates decomposes on heating to give the

corresponding nitrites and oxygen.

B. (b) Their chlorides are deliquescent and crystallise as hydrates.

C. (c) They react with water to form hydroxide and hydrogen.

D. (d) They readily react with halogens to form ionic halides.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_L8eYyzQdyT12
https://dl.doubtnut.com/l/_RCaxe74XUFz7
https://dl.doubtnut.com/l/_AlyPfMJ9LzY6


197. What is the vapour pressure of purewater at  temperature?

Watch Video Solution

100∘C

198. A solution is prepared by dissolving 10 g of nonvolatile solute in 180

g of . If the relative lowering of vapour pressure is 0.005, find the

mol. wt. of the solute.

Watch Video Solution

H2O

199. A very small amount of a nonvolatile solute (that does not

dissociate) is dissolved in 56.8  of benzene (density 0.889 g ). At

room temperature, vapour pressure of this solution is 98.88 mm Hg while

that of benzene is 100 mm Hg. Find the molality of this solution. If the

freezing temperature of this solution is 0.73 degree lower than that of

benzene, what is the value of molar freezing point depression constant

of benzene ?

Watch Video Solution

cm3 cm− 3

https://dl.doubtnut.com/l/_AlyPfMJ9LzY6
https://dl.doubtnut.com/l/_63FLwWwQOF35
https://dl.doubtnut.com/l/_yZuXHp6Hcqp0


Watch Video Solution

200. A solution of .73 g of 'A' in 100 cc of water is found to be isotonic

with a  (wt./vol.) solution of sucrose . Calculate

molecular weight of A. .Assume no

dissociation/association.

Watch Video Solution

3.42 % (C12H22O11)

(C12H22O11 = 342)

201. A solute 'A' undergoes association in a medium as  


If the degree of association is , then Van't Hoff factor may be given as

:

Watch Video Solution

nA ⇔ An

'α'

202. Ethylene glycol is used as antifreezing agent to prevent the freezing

of water in car radiator in cold climate. Calculate the amount of ethylene

https://dl.doubtnut.com/l/_yZuXHp6Hcqp0
https://dl.doubtnut.com/l/_oATcD1iRtCmg
https://dl.doubtnut.com/l/_evl2Uma1Gb7x
https://dl.doubtnut.com/l/_DKGlPALC4NjJ


glycol to be added to 5 kg of water to prevent it from freezing at .

Given  for water = .

Watch Video Solution

−6∘C

Kf 1.85kgmol− 1

203. What is the weight of 1 mole of a solute,0.132g of which in 29.7 g

benzene gave a freezing point depression of  ? (  for benzene

= 5.12)

Watch Video Solution

0.108∘C Kf

204. A solution containing 28 g phosphorus in 315 g  (b. pt. )

boils at  for  is 2.34 K  kg. Calculate m.wt. of

phosphorus and deduce its molecular formula. Assume its complete

association.

Watch Video Solution

CS2 46.3∘C

47.98∘C. Kb CS2 mol− 1

https://dl.doubtnut.com/l/_DKGlPALC4NjJ
https://dl.doubtnut.com/l/_jum17KFKnm4w
https://dl.doubtnut.com/l/_8dtmHZCLiJp4


205. A binary liquid (AB) shows positive deviation from Raoult's law when

A.  and 

B. Intermolecular forces : 

C. 

D. 

Answer:

Watch Video Solution

PA > P 0
A
X

liq

A
PB > P 0

BX
liq

B

A − A, B − B > A − B

ΔVmix > 0

ΔHmix > 0

206. Consider 0.1 M solutions of two solutes X and Y. The solute X

behaves as univalent electrolyte, will the solute Y dimerises in solution.

Selected correct statement 

(s) regarding these solutions:

A. The boiling point of solution of 'X' will be higher than that of 'Y'

https://dl.doubtnut.com/l/_gVMWrhDiDckb
https://dl.doubtnut.com/l/_849G02kxZFSf


B. The osmotic pressure of solution of 'Y' will be higher than that of

'X'.

C. The freezing point of solution of 'X' will be lower than that of 'Y'.

D. The relative lowering of vapour pressure of both the solution will

be the same

Answer:

Watch Video Solution

207. Which of the following statements is (are) incorrect ?

A. 0.1 M KCL solution will have the same osmotic pressure as 0.1 M

glucose solution.

B. 0.1 M KCI solution will have the same boiling point as 0.1 M urea

solution.

C. 0.1 m glucose and 0.1 m urea isotonic.

https://dl.doubtnut.com/l/_849G02kxZFSf
https://dl.doubtnut.com/l/_jbOu3pSJNn5E


D. 0.1 m  solution will have less relative lowering of vapour

pressure than 0.1 m NaCI.

Answer:

Watch Video Solution

MgCI2

208. Consider following solutions : 

0.1 m  : 0.1 m Glucose , 0.1 m 

A. the solution with highest boiling point is 0.1 m 

B. the solution with highest freezing point 0.1 m glucose

C. 0.1 m  and 0.1 m NaCI will have the same osmotic

pressure

D. 0.1 m glucose solution will have the lowest osmotic pressure

Answer:

Watch Video Solution

C6H5NH +
3 CI − Na2C2O4.10H2O

Na2C2O4.10H2O

C6H5NH3CI

https://dl.doubtnut.com/l/_jbOu3pSJNn5E
https://dl.doubtnut.com/l/_Ycb7xAt76cI4


209. The azeotropic solutions of two miscible liquids

A. can be separated by simple distillation

B. may show positive or negative deviation from Raoult's Low

C. are supersaturated solution

D. behave like a single component and boil at a constant temperature

Answer:

Watch Video Solution

210. For a nonvolatile solute which statement (s) is/are correct ?

A. vap. pressure of solution = vap. pressure of pure solvent

B. vap. pressure of solute is zero

C. vap. pressure of solution = vap. pressure of solvent in solution

https://dl.doubtnut.com/l/_Ycb7xAt76cI4
https://dl.doubtnut.com/l/_9GqBVxgSmDnN
https://dl.doubtnut.com/l/_spLMC8Es5NLJ


D. vap. pressure of solution  vap. pressure of pure solvent

Answer:

Watch Video Solution

>

211. In the depression of freezing point experiment it is found that

A. the vap. pressure of the solution is less than that of pure solvent

B. the vap. pressure of solution is more than that of pure solvent

C. only solute molecules solidify at freezing point

D. only solvent molecules solidify at the freezing point

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_spLMC8Es5NLJ
https://dl.doubtnut.com/l/_LV1smwYbjeaN


212. Addition of non-volatile solute to a solvent always increases the

colligative properties such as osmotic pressure.  and  . All

these colligative properties are directly proportional to molality if

solutions are dilute. The increases in colligative properties on addition of

non-volatile solute is due to increases in number of solute particles.

For different aqueous solutions of 0.1 N NaCI, 0.1 N urea, 0.1 N 

and 0.1 N  solution at , the correct statements are : 


1. The order of osmotic pressure is NaCI =  = urea 


2.  =  RT for urea solution 


3. Addition of salt on ice increases its melting point 

4. Addition of salt on ice bring in melting of ice earlier

A. 2,3,4

B. 2,4

C. 1,2,3

D. 3,4

Answer: B

ΔP . ΔTb ΔTf

Na2SO4

Na3PO4 27∘C

Na2SO4 = Na3PO4

π ×
ΔTb

kb

https://dl.doubtnut.com/l/_6osnEbrSZYAr


Watch Video Solution

213. Addition of non-volatile solute to a solvent always increases the

colligative properties such as osmotic pressure.  and  . All

these colligative properties are directly proportional to molality if

solutions are dilute. The increases in colligative properties on addition of

non-volatile solute is due to increases in number of solute particles.

For different aqueous solutions of 0.1 N NaCI, 0.1 N urea, 0.1 N 

and 0.1 N  solution at , the correct statements are : 


1. The order of osmotic pressure is NaCI =  = urea 


2.  =  RT for urea solution 


3. Addition of salt on ice increases its melting point 

4. Addition of salt on ice bring in melting of ice earlier

A. 1,2,3

B. 1,2,3,5

C. 2,4,5

D. 1,4,5

ΔP . ΔTb ΔTf

Na2SO4

Na3PO4 27∘C

Na2SO4 = Na3PO4

π ×
ΔTb

kb

https://dl.doubtnut.com/l/_6osnEbrSZYAr
https://dl.doubtnut.com/l/_YNA5RQcrsTFI


Answer: A

Watch Video Solution

214. An aqueous solution of 0.1 molal concentration of sucrose should

have freezing point 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(kf = 1.86kmol− 1kg)

0.186∘C

1.86∘C

−1.86∘C

−0.186∘C

215. When 250 mg of eugenol is added to 100 g of camphor

, it lowered the freezing point by . The(kf = 39.7kmolality− 1) 0.62∘C

https://dl.doubtnut.com/l/_YNA5RQcrsTFI
https://dl.doubtnut.com/l/_M3XsHPS47fva
https://dl.doubtnut.com/l/_2PeEloORrZz5


molar mass of eugenol is :

A. 

B. 

C. 

D. 200 g/mol

Answer: A

Watch Video Solution

1.6 × 102g/mol

1.6 × 104g/mol

1.6 × 103g/mol

216. Match column - I with Column - II 

View Text Solution

217. Match column - I with Column - II 

https://dl.doubtnut.com/l/_2PeEloORrZz5
https://dl.doubtnut.com/l/_BNHOQnxIzmXK
https://dl.doubtnut.com/l/_XthgfIkwkl4e


View Text Solution

218. Match column - I with Column - II 

View Text Solution

219. The vapour pressure of two pure liquid A and B are 5 and 10 torr

respectively.Calculate the total pressure of the solution (in torr) obtained

by mixing 2 moles of A and 3 moles of B.

Watch Video Solution

220. The vapour pressure of a liquid solution containing A and B is 99

torr. Calculate mole  of B in vapour phase. 


(Given :  = 100 torr ,  = 80 torr)

Watch Video Solution

%

P 0
A

P 0
B

https://dl.doubtnut.com/l/_XthgfIkwkl4e
https://dl.doubtnut.com/l/_pptrqFQhDCbR
https://dl.doubtnut.com/l/_w5HB2xmpODm9
https://dl.doubtnut.com/l/_y2v6OyrhWJBH


221. Calculate elevation in boiling point for 2 molal aqueous solution of

glucose. 

Watch Video Solution

(Given : kb(H2O) = 0.5Kkg. mol− 1)

222. A solution containing 500 g of a protein per litre is isotonic with a

solution containing 3.42 g sucrose per litre. The molecular mass of

protein in  hence x is

Watch Video Solution

5 × 10×

223. An aqueous solution of urea has a freezing point of .

Predict the osmotic pressure (in atm) of the same solution at . 

Watch Video Solution

−0.515∘C

37∘C

kf = 1.86kkg(mol) − 1

https://dl.doubtnut.com/l/_b2DDdAhSH1Ow
https://dl.doubtnut.com/l/_lTHVvsvXKm1C
https://dl.doubtnut.com/l/_82RiQbhqWpfb
https://dl.doubtnut.com/l/_Eg5j6Y7jjR0P


224. Calculate the concentration of NaOH solution in g/mL which has the

same normality as that of a solution of HCI of concentration 0.0365 g/mL.

Watch Video Solution

225. 10 g of solute A and 20 g of solute B both are dissolved in 500 mL of

water. The solution has the same osmotic pressure as 6.67 g of A and 30

g of B are dissolved in the same volume of water at the same

temperature. What is the ratio of molar masses of A and B ?

Watch Video Solution

226. Arrange the osmotic pressure in increasing order for the following

(assume salts are  dissociated). 


I. 0.M urea 

II. 0.1 M NaCl 

III.  


IV. 

100 %

0.1MNa2SO4

0.1MNa3PO4

https://dl.doubtnut.com/l/_Eg5j6Y7jjR0P
https://dl.doubtnut.com/l/_ltKCqrsad0Km
https://dl.doubtnut.com/l/_AZnk7lqefmUE


Watch Video Solution

227. If equal volumes of two isotonic solutions are. mixed then calculated

the osmotic pressure of the net resultant solution obtained.

Watch Video Solution

228. Dry air was successively passed through a solution of 5 g solute in

80 g water & then through pure water. The loss in weight of solution was

2.5 g & that of pure water was 0.04 g. What is the mol. wt. of solute ?

Watch Video Solution

229. A beaker containing 20 g sugar in 100 g water and another

containing 10 g sugar in 100 g water are placed under a bell- jar and

allowed to stand until equilibrium is reached. How much water will be

transferred from one beaker to another ?

W t h Vid S l ti

https://dl.doubtnut.com/l/_AZnk7lqefmUE
https://dl.doubtnut.com/l/_P6vOSGDjnZ6d
https://dl.doubtnut.com/l/_wp9zKKIQKUFX
https://dl.doubtnut.com/l/_PACJAVvM7Cvw


Watch Video Solution

230. A solution containing 0.5 g of naphthalene in 50 g  yield a

boiling point elevation of 0.4 k, while a solution of 0.6 g of an unknown

solute in the same mass of the solvent gives a boiling point elevation of

0.65 k. Find the molar mass of the unknown solute.

Watch Video Solution

CCl4

231. Calculate the freezing point of a solution of a non-volatile solute in a

unknown solvent of molar mass 30 g/mol having mole fraction of solvent

equal to 0.8. Given that latent heat of fusion of solid solvent = 2.7 kcal

, freezing point of solvent =  and R = 2 cal `mol^(-1)

k^(-1)

Watch Video Solution

mol( − 1)k− 1 27∘C

https://dl.doubtnut.com/l/_PACJAVvM7Cvw
https://dl.doubtnut.com/l/_s93MEkZSKuae
https://dl.doubtnut.com/l/_CMQ75birjK4W


232. Two liquids A and B form an ideal solution. At 300 k, the vapour

pressure of a solution containing 1 mole of A and 3 moles of B is 550 mm

of Hg. At the same temperature, if one mole of B is added to this

solution, the vapour pressure of the solution increases by 10 mm of Hg.

Determine the vapour pressure of A and B in their pure states.

Watch Video Solution

233. Vapour pressure of  and  mixture at  is given P (mm

Hg) = , where  is the mole fraction of . A solution is

prepared by mixing 936 g benzene and 736 g toluene and if vapours over

this solution are removed and condensed into liquid and again brought

to the temperature , what would be mole fraction of  in the

vapour state. (At. wt. of C 12, H = 1)

Watch Video Solution

C6H6 C7H8 50∘C

180XB + 90 XB C6H6

50∘C C6H6

https://dl.doubtnut.com/l/_z3cATWGrOhB9
https://dl.doubtnut.com/l/_FGzoMXKHY0JM


234. At a constant temperature liquid 'A' has vapour pressure of 170 mm

Hg and liquid 'B' has vapour pressure of 280 mm Hg. A solution of the

two at the same temperature in which mole fraction of A is 0.7 has a

total vapour pressure of 376 mm. Identify whether the solution process is

Endothermic or Exothermic ?

Watch Video Solution

235. This question has statement I and II. Of the four choices given after

the statements, choose the one that best describes the two statements.

Statement - I : The difference in the boiling points of equimolar solution

of HCI and HF decreases as their molarity is decreased. 

Statement -II : The extent of dissociation decreases steadily with

increasing dilution.

A. Statement - I is true, Statement - II is true. Statement - II is a correct

explanation of Statement - I

https://dl.doubtnut.com/l/_2NDUZTAcSsnt
https://dl.doubtnut.com/l/_0Zu1FmyBOUBc


B. Statement - I is true, Statement - II is true. Statement - II is not

correct explanation of Statement - I

C. Statement - I is true, Statement - II is false.

D. Statement - I is false, Statement - II is true.

Answer: C

Watch Video Solution

236. This question has statement I and II. Of the four choices given after

the statements, choose the one that best describes the two statements.

Statement - I : When 'a' mL of a 0.1 molal urea solution is mixed with

another 'b' mL of 0.1 molal glucose solution, the boiling point of the

solution is no different from the boiling points of the samples prior to

mixing but if a mL of molal urea is mixed with 'b' mL of 0.1 molal HF the

boiling point is different from the separate samples 

Statement -II : HF is an electrolyte (weak) whereas glucose is a non

electrolyte.

https://dl.doubtnut.com/l/_0Zu1FmyBOUBc
https://dl.doubtnut.com/l/_Me2IUGUnIUs5


A. Statement - I is true, Statement - II is true. Statement - II is a correct

explanation of Statement - I

B. Statement - I is true, Statement - II is true. Statement - II is not

correct explanation of Statement - I

C. Statement - I is true, Statement - II is false.

D. Statement - I is false, Statement - II is true.

Answer: A

Watch Video Solution

237. This question has statement I and II. Of the four choices given after

the statements, choose the one that best describes the two statements.

Statement - I : The freezing point of water is depressed by the addition of

glucose. 

Statement -II : Entropy of solution is less than entropy of pure solvent.

https://dl.doubtnut.com/l/_Me2IUGUnIUs5
https://dl.doubtnut.com/l/_WfzoRJYZua9Y


A. Statement - I is true, Statement - II is true. Statement - II is a correct

explanation of Statement - I

B. Statement - I is true, Statement - II is true. Statement - II is not

correct explanation of Statement - I

C. Statement - I is true, Statement - II is false.

D. Statement - I is false, Statement - II is true.

Answer: C

Watch Video Solution

238. This question has statement I and II. Of the four choices given after

the statements, choose the one that best describes the two statements.

Statement - I : In binary ideal solution more volatile component boils at

less temperature and less volatile component boils at high temperature

than their normal boiling point of pure component. 

Statement -II : For any composition, mixture boils at temperature in

between the their normal boiling point temperature of pure component.

https://dl.doubtnut.com/l/_WfzoRJYZua9Y
https://dl.doubtnut.com/l/_nCvfGG5DOn8W


A. Statement - I is true, Statement - II is true. Statement - II is a correct

explanation of Statement - I

B. Statement - I is true, Statement - II is true. Statement - II is not

correct explanation of Statement - I

C. Statement - I is true, Statement - II is false.

D. Statement - I is false, Statement - II is true.

Answer: D

Watch Video Solution

239. This question has statement I and II. Of the four choices given after

the statements, choose the one that best describes the two statements.

Statement - I : The boiling point of 0.1 M urea solution is less than that of

0.1 M KCI solution. 

Statement -II : Elevation of boiling point is directly proportional to the

number of moles of non-volatile solute particles present in the solution.

https://dl.doubtnut.com/l/_nCvfGG5DOn8W
https://dl.doubtnut.com/l/_IK7bApxG9mTK


A. Statement - I is true, Statement - II is true. Statement - II is a correct

explanation of Statement - I

B. Statement - I is true, Statement - II is true. Statement - II is not

correct explanation of Statement - I

C. Statement - I is true, Statement - II is false.

D. Statement - I is false, Statement - II is true.

Answer: A

Watch Video Solution

240. This question has statement I and II. Of the four choices given after

the statements, choose the one that best describes the two statements.

Statement - I : The observed molar mass of acetic acid in benzene is more

than the normal molar mass of the acetic acid 

Statement -II : Molecules of acetic acid dimerise in benzene due to

hydrogen bonding.

https://dl.doubtnut.com/l/_IK7bApxG9mTK
https://dl.doubtnut.com/l/_GWsKF1RS1FfQ


A. Statement - I is true, Statement - II is true. Statement - II is a correct

explanation of Statement - I

B. Statement - I is true, Statement - II is true. Statement - II is not

correct explanation of Statement - I

C. Statement - I is true, Statement - II is false.

D. Statement - I is false, Statement - II is true.

Answer: A

Watch Video Solution

241. This question has statement I and II. Of the four choices given after

the statements, choose the one that best describes the two statements.

Statement - I : Molarity and molality of 111 mg  in 1 kg  is

nearly same. 

Statement -II : In dilute solution molarity and molality are approximately

equal.

CaCI2 H2O

https://dl.doubtnut.com/l/_GWsKF1RS1FfQ
https://dl.doubtnut.com/l/_bfxYRuveV8lX


A. Statement - I is true, Statement - II is true. Statement - II is a correct

explanation of Statement - I

B. Statement - I is true, Statement - II is true. Statement - II is not

correct explanation of Statement - I

C. Statement - I is true, Statement - II is false.

D. Statement - I is false, Statement - II is true.

Answer: A

Watch Video Solution

242. This question has statement I and II. Of the four choices given after

the statements, choose the one that best describes the two statements.

Statement - I : At ice  water equilibrium, on increasing the pressure

freezing point of water decreases. 

Statement -II : Ice have low density so equilibrium shift in forward

direction when pressure is increased.

⇔

https://dl.doubtnut.com/l/_bfxYRuveV8lX
https://dl.doubtnut.com/l/_YGuOF9xiwe1G


A. Statement - I is true, Statement - II is true. Statement - II is a correct

explanation of Statement - I

B. Statement - I is true, Statement - II is true. Statement - II is not

correct explanation of Statement - I

C. Statement - I is true, Statement - II is false.

D. Statement - I is false, Statement - II is true.

Answer: A

Watch Video Solution

243. This question has statement I and II. Of the four choices given after

the statements, choose the one that best describes the two statements.

Statement - I : An increase in surface area increases the the rate of

evaporation. 

Statement -II : Stronger the intermolecular attraction forces, faster is the

rate of evaporation at a given temperature.

https://dl.doubtnut.com/l/_YGuOF9xiwe1G
https://dl.doubtnut.com/l/_nMx3LS3ynTBt


A. Statement - I is true, Statement - II is true. Statement - II is a correct

explanation of Statement - I

B. Statement - I is true, Statement - II is true. Statement - II is not

correct explanation of Statement - I

C. Statement - I is true, Statement - II is false.

D. Statement - I is false, Statement - II is true.

Answer: B

Watch Video Solution

244. This question has statement I and II. Of the four choices given after

the statements, choose the one that best describes the two statements.

Statement - I : An ideal solution obeys Raoult's law. 

Statement -II : In an ideal solution, solute - solute as well as solvent -

solvent, interactions are similar to solute solvent interactions.

https://dl.doubtnut.com/l/_nMx3LS3ynTBt
https://dl.doubtnut.com/l/_SDSxqCcl73p5


A. Statement - I is true, Statement - II is true. Statement - II is a correct

explanation of Statement - I

B. Statement - I is true, Statement - II is true. Statement - II is not

correct explanation of Statement - I

C. Statement - I is true, Statement - II is false.

D. Statement - I is false, Statement - II is true.

Answer: A

Watch Video Solution

245. This question has statement I and II. Of the four choices given after

the statements, choose the one that best describes the two statements.

Statement - I : If a liquid solute more volatile than the solvent is added to

the solvent, the vapour pressure of the solution is greater than vapour

pressure of pure solvent. 

Statement -II : Vapour pressure of solution is equal to vapour pressure of

solvent.

https://dl.doubtnut.com/l/_SDSxqCcl73p5
https://dl.doubtnut.com/l/_Q1aqKVbEixtw


A. Statement - I is true, Statement - II is true. Statement - II is a correct

explanation of Statement - I

B. Statement - I is true, Statement - II is true. Statement - II is not

correct explanation of Statement - I

C. Statement - I is true, Statement - II is false.

D. Statement - I is false, Statement - II is true.

Answer: C

Watch Video Solution

246. This question has statement I and II. Of the four choices given after

the statements, choose the one that best describes the two statements.

Statement - I :  and  for an ideal solution is zero. 


Statement -II : A.... B interaction in an ideal solution are same as between

A....A and B....B.

ΔVmix ΔSmix

https://dl.doubtnut.com/l/_Q1aqKVbEixtw
https://dl.doubtnut.com/l/_SGW4RSXEHsMp


A. Statement - I is true, Statement - II is true. Statement - II is a correct

explanation of Statement - I

B. Statement - I is true, Statement - II is true. Statement - II is not

correct explanation of Statement - I

C. Statement - I is true, Statement - II is false.

D. Statement - I is false, Statement - II is true.

Answer: D

Watch Video Solution

247. This question has statement I and II. Of the four choices given after

the statements, choose the one that best describes the two statements.

Statement - I : Elevation in boiling point will be high if the molal elevation

constant of the liquid is high. 

Statement -II : Elevation in boiling point is a colligative property.

https://dl.doubtnut.com/l/_SGW4RSXEHsMp
https://dl.doubtnut.com/l/_77FOLZpsXPTK


A. Statement - I is true, Statement - II is true. Statement - II is a correct

explanation of Statement - I

B. Statement - I is true, Statement - II is true. Statement - II is not

correct explanation of Statement - I

C. Statement - I is true, Statement - II is false.

D. Statement - I is false, Statement - II is true.

Answer: B

Watch Video Solution

248. This question has statement I and II. Of the four choices given after

the statements, choose the one that best describes the two statements.

Statement - I : Addition of ethylene glycol to water lowers the freezing

point of water, therefor, used as antifreeze substance. 

Statement -II : Ethylene glycol is soluble in water.

https://dl.doubtnut.com/l/_77FOLZpsXPTK
https://dl.doubtnut.com/l/_sgQKt8j9Rlc2


A. Statement - I is true, Statement - II is true. Statement - II is a correct

explanation of Statement - I

B. Statement - I is true, Statement - II is true. Statement - II is not

correct explanation of Statement - I

C. Statement - I is true, Statement - II is false.

D. Statement - I is false, Statement - II is true.

Answer: B

Watch Video Solution

249. This question has statement I and II. Of the four choices given after

the statements, choose the one that best describes the two statements.

Statement - I : Osmotic pressure is a colligative property. 

Statement -II : Osmotic pressure developed in a column due to osmosis.

A. Statement - I is true, Statement - II is true. Statement - II is a correct

explanation of Statement - I

https://dl.doubtnut.com/l/_sgQKt8j9Rlc2
https://dl.doubtnut.com/l/_HYD4OmFxD3pQ


B. Statement - I is true, Statement - II is true. Statement - II is not

correct explanation of Statement - I

C. Statement - I is true, Statement - II is false.

D. Statement - I is false, Statement - II is true.

Answer: B

Watch Video Solution

250. This question has statement I and II. Of the four choices given after

the statements, choose the one that best describes the two statements.

Statement - I : Osmosis involves movement of solvent molecules from its

higher concentration to its lower concentration. 

Statement -II : Solutions having the same osmotic pressure are called

isotonic solutions.

A. Statement - I is true, Statement - II is true. Statement - II is a correct

explanation of Statement - I

https://dl.doubtnut.com/l/_HYD4OmFxD3pQ
https://dl.doubtnut.com/l/_jffT548aU3jS


Question Bank

B. Statement - I is true, Statement - II is true. Statement - II is not

correct explanation of Statement - I

C. Statement - I is true, Statement - II is false.

D. Statement - I is false, Statement - II is true.

Answer: D

Watch Video Solution

1.  of a 0.1 M monobasic acid is measured to be 2. Its osmotic pressure

at a given temperature TK is

A. 0.1 RT

B. 0.11 RT

C. 1.1 RT

pH

https://dl.doubtnut.com/l/_jffT548aU3jS
https://dl.doubtnut.com/l/_ehJDJTNFHEk0


D. 0.01 RT

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ehJDJTNFHEk0

